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Complete the following by writing either compiler, interpreter or assembler in the spaces
provided.

~ translates source code into object code.

~ translates low-level language into machine code.

— stops the execution of a program as soon as it
encounters an error.
[8]

Motion sensors are used in a security system to deteot intruders.
Name three other sensors that could be used in the following applications.

Give a different type of sensor for each application.

Application
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(@) Give two reasons why a programmer would choose to wite code in a low-level language.

1

(b) High-level languages require sither an interpreter of a compiler to translate the program.

‘The table below lists a number of statements about language transiators

Tick () to show which statements refer to interpreters and which refer to compilers.

&}

Statements. Interpreter (v)

Compiler (/)

Transiates the source code into machine code
all at once.

Produces an executable file in machine code

Executes a high-level language program one.
instruction at a time

‘Once translated, the transiator does not need to
be present for the program to run

An executable file is produced

State four functions of an operating system.
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9
High-level or low-level languages can be used when writing a computer program

State two advantages of using a high-level language and two advantages of using a low-level
language.

High-level language advantage 1

High-level language advantage 2

Low-level language advantage 1

Low-level language advantage 2

“l

Modern Liquid Crystal Display (LCD) monitors use Light-Emiting Diode (LED) backit technology.

Give four benefits of using LED technology.
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8  Four descriptions about compilers and interpreters are shown below.

Draw lines to indicate which descriptions refer to a compiler and which descriptions refer to an
interpreter.

Description

Itis more difficult to debug the

code since one error can

produce many other associated
erors.

“The speed of execution of
program loops is slower. Compier
It produces fas, executable
code that runs directly on the Interpreter
processor.

Itis easier to debug the code
since an error is displayed as
so0n as it is found.
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